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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,384 86,107 41,080 45,027
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 181 591 285 306
RIRET4T 415 983 490 493
B 629 1,647 812 835
REH 2,736 6,130 2,848 3,282
L&A 4,341 9,399 4,367 5,032
5E 2,645 5,840 2,828 3,012
B AN 1,330 2,862 1,341 1,521
BERT 1,387 1,935 938 997
BER2T 874 1,512 740 772
BERST 717 1,699 821 878
B 2,978 5,146 2,499 2,647
BEXRE 279 641 311 330
= 2,183 4,849 2,308 2,541
hERE 637 1,419 657 762
aE 2,457 5,023 2,429 2,594
25 L ET 2,326 5,023 2,404 2,619
B &AL BT 77 151 62 89
HEFILET1T 562 1,204 558 646
HEFILET2T 611 1,273 608 665
HEZFILAT3T 668 1,505 739 766
g 1,918 4,133 1,967 2,166
B & it B Fr ET 687 1,537 742 795
BHEREBET1T 575 1,153 568 585
BHERERET2T 767 1,718 830 888
BHERERETST 808 1,607 726 881
BHERERET4T 509 926 435 491
HEKERETST 836 1,668 801 867
HEERET6T 884 1,882 916 966
BHERERET7T 890 1,847 920 927
HERERETST 72 208 102 106
£t| 5341 11,009 5,298 5,711
HEF R FET 2,022 4,152 2,031 2,121
S|EFET1T 632 1,576 785 791
S|EFET2T 779 1,745 818 927
S|EFET3 T 744 1,380 633 747
g 2,155 4,701 2,236 2,465
ERE1T 579 1,310 631 679
EIRET2T 389 1,035 509 526
EREIST 525 1,328 648 680
EIRETAT 690 1,444 645 799
EIZEIST 522 1,115 556 559
g 2,705 6,232 2,989 3,243
M EFHE 2,906 6,168 2,921 3,247
J\THET1T 36 38 17 21
J\THET2T 24 53 28 25
J\THEI3T 49 105 47 58
B 109 196 92 104
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